GCSE Mathematics (1MA1) – Foundation Tier Paper 3F
Spring 2017 mock paper (Set 2); Student-friendly mark scheme

NOTES ON MARKING PRINCIPLES

	Guidance on the use of codes within this mark scheme



	M1 – method mark. This mark is generally given for an appropriate method in the context of the question. This mark is given for showing your working and may be awarded even if working is incorrect.
P1 – process mark.  This mark is generally given for setting up an appropriate process to find a solution in the context of the question.
A1 – accuracy mark. This mark is generally given for a correct answer following correct working.
B1 – working mark. This mark is usually given when working and the answer cannot easily be separated.
C1 – communication mark. This mark is given for explaining your answer or giving a conclusion in context supported by your working.
In some cases full marks can be given for a question or part of questions where no working is seen. However, it is wise to show working for one small slip could lead to all marks being lost if no working is shown.

Some questions (such as QWC) require all working to be shown; in such questions, no marks will be given for an answer with no working (even if it is a correct answer).



Note that in some cases a correct answer alone will not score marks unless supported by working; these situations are made clear in the mark scheme. Examiners are prepared to award zero marks if the student’s response is not worthy of credit according to the mark scheme.
Question 1 (Total 2 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	Mark at 
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	B1
	This mark is given for the correct answer only

	
	Mark at 
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	B1
	This mark is given for the correct answer only


Question 2 (Total 1 mark)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	2750
	B1
	This mark is given for the correct answer only


Question 3 (Total 2 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	Diameter

Radius

Chord

Tangent
	B2
	This mark is given for a fully correct answer

(B1 is given for 2 or 3 correct answers)


Question 4 (Total 2 marks)

	Part
	Working an or answer examiner might expect to see
	Mark
	Notes

	
	65 or 53 used
	P1
	This mark is given for a process to for start finding a solution

	
	65 ( 130

or

53 ( 106
	A1
	This mark is given for a correct answer only


Question 5 (Total 6 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	(a)
	2x + 2 = 8

or

(x + 1) = 4
	M1
	This mark is given for expanding the bracket 

or 

for dividing both sides by 2 as the first step

	
	x = 3
	A1
	This mark is given for the correct answer only

	(b)
	3y = 12
or
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	M1
	This mark is given for a subtracting 7 from both sides 
or 
for dividing both sides by 3 as the first step

	
	x = 4
	A1
	This mark is given for the correct answer only

	(c)
	2(3n – 2)
	B1
	This mark is given for the correct answer only

	(d)
	4cd
	B1
	This mark is given for the correct answer only


Question 6 (Total 6 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	(a)
	3
	B1
	This mark is given for the correct answer only

	(b)
	10 – 1 =
	M1
	This mark is given for selecting 1 and 10 

	
	9
	A1
	This mark is given for the correct answer only

	(c)
	3 + 4 + 5 + 2 + 1 = 15
	M1
	This mark is given for finding the number of words with 6 letters or more

	
	5 + 8 + 12 + 10 + 9 + 3 + 4 + 5 + 2 + 1 = 59
	M1
	This mark is given for a method to find the total number of words
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	A1
	This mark is given for the correct answer only


Question 7 (Total 2 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	Both obtuse angles are greater than 90 (but less than 180) and angles in a triangle add up to 180
	C2
	These marks are given for a fully correct statement 

(C1 is given if one of the two statements is offered)


Question 8 (Total 4 marks) 

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	(a)
	14
	B1
	This mark is given for the correct answer only

	(b)
	500 – 160 

or 

two integers that add to 500 

or 

two integers (below 500) with a difference of 160
	P1
	This mark is given for a process for a correct first step 

	
	500 – 160 = 340
340 ( 2 = 170

500 – 170 = 330
	P1
	This mark is given for a complete process to find either f or g

	
	f = 330, g = 170
	A1
	This mark is given for both correct values


Question 9 (Total 3 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	288 ( (1 + 3 + 8) (= 24)
	M1
	This mark is given for a method to for finding the number of parts in the ratio 

	
	24 ( 1, 24 ( 3,  24 ( 8
	M1
	This mark is given for a complete method to find the weight in the medium or the large box 

	
	24, 72 and 192
	A1
	This mark is given for the correct answer only


Question 10 (Total 5 marks)
	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	120 ÷ 40 = 3
	P1
	This mark is given for a process to start finding a solution, e.g. the price of each hat

	
	30 ( 4.50 and 10 ( 4
	P1
	This mark is given for a process to find the selling prices of the hats

	
	30 × 4.50  = 135 and 5 × 4 = 20
	P1
	This mark is given for a process to find Ravi’s income

	
	(135 + 20) − 120
	P1
	This mark is given for a complete process to find Ravi’s profit 

	
	35
	A1
	This mark is given for the correct answer only


Question 11 (Total 3 marks)
	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	1  6  8  9

2  2  2  3  3  4  5  8

3  1  3  4

4  0  1
	B2
	These marks are given for a fully correct stem and leaf diagram

(B1 is given for an ordered diagram with one error or omission or for an unordered diagram)

	
	key 4|1 is 41
	B1
	This mark is given for an appropriate key


Question 12 (Total 3 marks)
	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	Measurement of 7.5 cm
	B1
	This mark is given for a measurement in the range 7.3 to 7.7 (cm)  
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	M1
	This mark is given for a method to find actual distance covered and the average speed

	
	15 mph
	A1
	This mark is given for the correct answer only


Question 13 (Total 4 marks)
	Part
	Working an or answer examiner might expect to see
	Mark
	Notes

	
	10 ( 1.29 = 7.75… or 7 packets
	P1
	This mark is given for a process to start finding a solution 

	
	10 – (7 ( 1.29) =
	P1
	This mark is given for a process to fid out how much change Olivia will get

	
	£0.97 or 97p
	A1
	This mark is given for the correct answer only

	
	No, since 28 is not a multiple of 6
	C1
	This mark is given for a correct comment


Question 14 (Total 3 marks)
	Part
	Working or answer an examiner might expect to see
	Mark
	Notes
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 × 400 = 14
	M1
	This mark is given for a method to for method to find 3.5% of 400  

	
	14 ( 5 = 
	M1
	This mark is given for a method to the interest paid over five years

	
	70
	A1
	This mark is given for the correct answer only


Question 15 (Total 5 marks)
	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	6 ( 17 ( 5 = 510 bags
	P1
	This mark is given for a process to begin the problem

	
	510 ( 0.9 = 459
	P1
	This mark is given for a process to find the number of perfect bags per week

	
	459 ÷ 12
	P1
	This mark is given for a process for dividing the number of perfect bags by 12

	
	= 38. 25
	A1
	This mark is given for an answer of 38 or 38.25 boxes

	
	38 whole boxes
	C1
	This mark is given for rounding their answer to a full number of boxes 


Question 16 (Total 3 marks)
	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	4x + 6y = 20         or
  2x + 3y = 10
4x – y = –1

12x – 3y  = –3

       7y = 21

14x 
    = 7
	M1
	This mark is given for a method to for a correct method to eliminate one variable

	
	y = 3, so 2x + 9 = 10

or

x =  
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, so 1 + 3y = 10
	M1
	This mark is given for a method for substituting found value in one of the equations

	
	x = 
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,  y =3
	A1
	This mark is given for the correct answer only


Question 17 (Total 3 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes
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= 4
	P1
	This mark is given for a process to process to use the gradient 
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 = 4    so  d – 10 = 12
	P1
	This mark is given for a process to for a complete process to rearrange equation formed to isolate d 

	
	d = 22
	A1
	This mark is given for the correct answer only


Question 18 (Total 3 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	100 ÷ 1.38  (= £72.46)

or 

222 × 1.38 (= €306.36)
	P1
	This mark is given for a process to use the currency conversion rate
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	P1


	This mark is given for a complete process to find the percentage required

	
	24.6%
	A1
	This mark is given for an answer in the range 24.6 – 24.61


Question 19 (Total 7 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	(a)
	95 × 18 = 1710 

80 × 18 = 1440

95 ( 80 = 7600
	P1
	This mark is given for a process to for process to find the surface area of at least two different faces

	
	(1710 + 1440 + 7600) × 2 = 21500
	P1
	This mark is given for a complete process to find the surface area of one cushion                        

	
	4 m2 = 40 000 cm2
	P1
	This mark is given for a process to convert units
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	P1
	

	
	4 cans
	A1
	This mark is given for the correct answer only (whole number of cans)

	(b)
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	P1
	This mark is given for a process to find the number of cans needed ( the surface area of 6 cushions divided by the new area covered by one spray can)

	
	The number of tins required will be reduced to three
	C1
	This mark is given for a correct statement supported by correct working 


Question 20 (Total 4 marks)

	Part
	Working an or answer examiner might expect to see
	Mark
	Notes

	(a)(i)
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	B1
	This mark is given for the correct answer only

	(a)(ii)
	2a = 
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	M1


	This mark is given for a method to use either 
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	A1
	This mark is given for the correct answer only

	(b)
	Correct line from P drawn on diagram
	B1
	This mark is given for a correct vector drawn


Question 21 (Total 3 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	Graph drawn
	M1


	This mark is given for a method to draw a line of gradient 
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 drawn, with at least two correct points plotted

	
	Fully correct graph
	C1
	This mark is given for a fully correct graph drawn

	
	48 – 52
	B1
	This mark is given for answer in the range 48 –52


Question 22 (Total 2 marks)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	sin 30( = 
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or 

x = 18 ( sin 30(
	M1
	This mark is given for a method to find out a value for x 

	
	sin 30( = 0.5, so x = 9
	A1
	This mark is given for the correct answer only


Question 23 (Total 3 marks)
	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	42.5  ÷ 0.17 = 250
	M1
	This mark is given for a method to find the normal price of the washing machine

	
	250 – (0.17 ( 250)
	M1
	This mark is given for a complete method to find the sale price

	
	£207.50
	A1
	This mark is given for the correct answer only


Question 24 (Total 1 mark)

	Part
	Working or answer an examiner might expect to see
	Mark
	Notes

	
	6 – 2 = 4
	B1
	This mark is given for a correct answer only
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